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f(x, y)

� ���&�"'�!��"% �(!���� )
*+,+-+ ./01 202 3

f =
1

(1 + 25x2)(1 + 36y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 25 2 3

f =
1

(1 + 2x)(1 + 16y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 26 2 3

f =
1

(1 + 6x)(1 + 3y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 27 2 3

f =
1

(1 + 9x2)(1 + 6y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 28 2 3

f =
1

xy(1/2 + 3y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 29 2 3

f =
1

y exp(3x)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 2:2 3

f =
1

1 + 25xy2

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 2; 2 3

f =
1

1 + x+ y/5

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 2< 2 3

f =
1

y exp(5x)

0 < x < 1 4 1 < y < 2

*+,+-+ ./01 201 2 3

f =
1

6x+ x exp(4y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 2002 3

f =
1

3xy + 6y

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 205 2 3

f =
1

3yx2 + 6xy

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 206 2 3

f =
1

1 + x+ y/5

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 207 2 3

f =
1

1 + 9xy2

0 < x < 1 4 0 < y < 1



*+,+-+ ./01 208 2 3

f =
1

xy(1/2 + 2y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 209 2 3

f =
1

(1 + 6x)(1 + 2y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 20: 2 3

f =
1

(1 + 6x)(1 + 16y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 20; 2 3

f =
1

3x+ x exp(6y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 20< 2 3

f =
1

1 + x+ y/3

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 251 2 3

f =
1

3xy + 6y

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 2502 3

f =
1

(1 + 9x2)(1 + 16y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 255 2 3

f =
1

(1 + 6x)(1 + 9y2)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 256 2 3

f =
1

(1 + 3x)(1 + 6y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 257 2 3

f =
1

1 + x+ y/5

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 258 2 3

f =
1

(1 + 5x)(1 + 3y)

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 259 2 3

f =
1

1 + 16xy2

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 25: 2 3

f =
1

1 + x+ y/2

0 < x < 1 4 0 < y < 1

*+,+-+ ./01 25; 2 3

f =
1

6xy + 4y

1 < x < 2 4 1 < y < 2

*+,+-+ ./01 25< 2 3

f =
1

4x+ x exp(5y)

1 < x < 2 4 0 < y < 1

*+,+-+ ./01 261 2 3

f =
1

2yx2 + 6xy

1 < x < 2 4 1 < y < 2
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ABCDBE F
GDHIJBKILBM NINOPOKQJ BIRSQ C ITUOLBM VVWXYZW [\

]
p · 103^ _ `abc

a c `c_a
d ^e `afb
f g `dhb
g ch `ggd
b ^_ `ed ^
c f ^e `_db
h bfc `bd_
e ^dc `beg
^_ gd `^he
^^ bb `fbe
^a fb `hf ^
^d bfc `bd_
^f gcb `hgf
^g ^^a `bg_
^b ab `dga
^c d `^^^
^h gd `_eh
^e ba^`fcf
a_ bb `fbe
a^ ^`gcf
aa g `dhb
ad ^e `afb
af bfc `bd_
ag aa `b ^f
ab fhg `hdd
ac gea `fc_
ah gf `aec
ae gf `hgc
d_ gf `aec

i jkl mnop q ^_r^s


